No:

Date:

\Work sheet 2
= Operation o Numbers
'F:'nd the value ot each expression 4 lowest  terms.
@ 1, 2 g . 3 ©) 5« @ F 2 @3 5
g 3 97 4 ’ q % o X 20 753
= W FR 2 ’ 8 x 3 = 5 x3 2 A x2 = 3x5
g§x 3 q X 4 4x¢ 10 X 2\ 4 x 3
DX pavpans?detag sas & |26 =4 < =15
2 - ¥ # ¥ ' e
2 1z 26 2 3 20 15 /28
25 / / § \/ A /
)3 |10 @ L |3 L IR T M1 g2 ®M|8 15
I's 7" T 277 T7% s '3 "s 9 " T
=g _ 21 ¥ =5"|‘ =8 e =60 43 =13
s J 2 4 = TR 9 " 6
= 8 x2l =3 x * = B x28 2 5O X 42 = 13 xy
5 xu 2 ¥4 +x3 Ix 5 q %6
= 168 9 3 21 = ')5»‘ Y = 224 3'[\1* = 2100 s w - lx' -5 25
5. "7 55 - 2| FUSTRR N 35 54 -~ 5%
/ 13 /. % L X
\/ Vv 7
=2 .5 w 4 = (m) 15 _5_ m 7 3 @15 . 5
3 6 1 22 6 ° 8 1z 4 13 g
52 & 2 Q 22 = A5 i = 4 =15 g
3“5 N 3 B SO o X3 Bt S
=2 x§ = q X212 =15 x8 = x4 -15 x§
3xs n ox3 b x5S 12 x3 b x§
!
=12 :4# , |2 9B s = 120 ,‘.*/ 228 = = no |1
15 = 17 <3 go 12 = 30 2
.v/ o e % 1 /
Vel ¥ Vi
» 93 . 33 @9} | 2 S . 2 ) gt . B B[ 4 !
S T =5 112 —{v g ~ 0 03~ ¢ O3
= 2% . 2% =5 3 280 . W =235 b B2t 3
¥ - 7 2 2 3 3 3 S s 3
=24 3 /a5 2 =B) 6 = 15 xb s 24 ¥1L
T 24 \/ |2 8 T 3 xS s x|
'v/
=24 %3 =168 (=BXL =0 -50x6 z 0 2\ =0p =68 o123
L F X4 168 2%x3 7 3 x 9 233 \\3\/ 3 PAY
’-"'oa \/ :I—zz...y \ =\a§"a \



No:

Date:

b

|&oolve  tne  problem

X

i(b) 2.+ + 3-8 125-5

@ 32:3 + 2.3 =24.¢ © 46-2 + }-1:2533 i(‘“ 46-% =19.3 =335
32.3 2.3 g 6.2 ‘ 3’%.?
+ 2-3 + 3-& Lt 3 - 9.3
34.6 / 25.8 2 £ | w3is 2.5
AR TN, 7
@ B6.2- 4.3= 55 h 332 - 13.] =201 @ 1-6% x 32:5344 0 84.78 X O-612:588
55.9 a3, “ 71_"5,3 ' }2%,?,
- 4.3 / -~ 13-4 ) ; *_32 /¥ o0l ‘ /
243 [iro] 04 A | sipamal isg —
4 \/ 561 $4Tg
5344 2086y
' 5183538

i

(i31>.16  x 028199 (3 1.363 ¢ 329 « 0.00% (3 4 + 0-002 W5 : 03
s ; i ]
e L 5.3 0.00% oo °2j
- = e Z o-ooy 2 %5,
w ’af o.\z‘sl /0 303 / )?\M
‘2'3 g . ag \/ b g
) | 2390 QJTOOO 3) §so
s .|@MS52 | > y >,
_ : _ 4 aib
14 | 13 ]
‘\4.:4\"97& . 5 _q
/ o o
274 o 9
: [
Fl /
v.

bl

Vi




No:

/ \\,,_'...

3@ \A/n{'e ,&7(X 1 as gn ordinany  number

sdsct) §.2 X [ 000600

= 820000 = 820000

oy Write ©.0003F¢ in Standard form-
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cy Work  aut the wvalut ot (23 x 10“) (a6 x 19®). Give your onswer in standard form.
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4. (@ Write 40 000 ©00 In  standary  form
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